n
a
O
4
L
-
o
4
O
-
%
a)
O
X
Ll
O
L
o
@,
=
I_

TWO-PIECE TORQUE RODS ASSEMBLY CHART

*ATRO

For Finished Rod Length Up To 36”

Female Female End / Male End Male End
TR71000 5/8” Bolt TR75000 5/8” Bolt
TR74000 3/4” Bolt TR78000 3/4” Bolt
TR83000 7/8” Bolt TR79000 7/8” Bolt

uA‘”

TR71000 5/8” Bolt TR76000 8”

TR74000 3/4” Bolt TR77000 v il
TR83000 7/8” Bolt Straddle/Taper Stud TR81000 6 5/8”

with Female Straddle
“A” . |
TR72000 8” apr # :| TR75000 5/8” Bolt
TR73000 7” 4 3:-/0:8” TR78000 3/4” Bolt
TR80000 6 5/8” Straddle/Taper Stud TR79000 7/8” Bolt
with Female Taper Stud

“A” “A”'

TR72000 8” “w TR76000 8”

TR73000 p i TR77000 7”7
TR80000 6 5/8” Taper Stud/Taper Stud TR81000 6 5/8”
[ Hole ID
TR82000 3/4” Bolt ”

1IR62000 STUAG TR85000 11/8

c-C
Offset Straddle/Hollow

Hole ID Hole ID
TR84000 118" | e ol ) | TR85000 11/8”

Hollow/Hollow



